September 22, 2017

There are many small isolated toPics that are

in the 1B Math Curriculum. Those will be

handled during warm ubs.
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PERLENTAGE ERRIRS (Sae the Clags Formula Sheet ) Yoar 6L

C\;HOV\\d be \’l
Consider the following expression ”:&:prjg'
b 15sin 40
sin 60

Calculate sin 40 and sin 60 giving your answers correct to 3 significant figures
and use these answers to calculate the value of b to 3 decimal places

Sin 40 = ,(0‘43 sin 60 = .%6(0 b= \\)%1

Now calculate the value of b without rounding either sin 40 or sin 60 giviflg your
answer correct to 3 decimal places

b= H ) \3’5 @V?OO g% &EP(OX~

Now calculate the percentage error in your first answer for b

% error = — O/O
L7 — )2 e 039

11433

STANDARD TNDEX FORM (saiemific Netation)

“.i

preH
Ifa=3.2x 10% and b = 4.7 x 10*then please calculate, giving your answers in
standard form _

150 = 10
bla = \.%'7 > 1O N
a+b= %QD < \D
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Which of the following units could be used to measure speed? Circle your
answers

-1
@cm/s s @{%g zfg M-S %m

Convert the following density to g/cr’

5kg/m® = OOS @ZM~§ b‘ﬂ@ix OO@ } >< 4’%«\
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Questions on the homework?
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next week there will be a small quiz on
Normal Distribution
(Not a large Test)

on Monday, we’'ll start a 9 day unit on
Statistical Applications
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Assignment: /Ch 10 Packet N
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